2A: Mt
B AAS AS U= AVE AH(SAUBT/HSK)
tel: NEESE HEs |4 (B9 &d)
g |
SN - - G9(3) - HRAY - BYS ofl ko plE-1 HTimE=FT
pelE= s 65,431,684 57,759,627 7,672,057
Xl 10,454,000 10,454,000 0
Il 4,240,433 3,550,586 689,847
== 50,737,251 43,755,041 6,982,210
S S st AT AE(SSHLZB/AR) 65,387,930 57,719,083 7,668,847
Xl 10,454,000 10,454,000 0
Il 4,240,433 3,550,586 689,847
=3 50,693,497 43,714,497 6,979,000
HNESESE AEs |4 9,344,500 8,744,500 600,000
T ER2SHIR 22 8,377,000 7,777,000 600,000
201 B3| 576,000 326,000 250,000
01 At 22/l 490,000 240,000 250,000
OTH AlE =4 AX 250,000 0 250,000
405 XHatH SHI 390,000 40,000 350,000
01 HALESHSEHI 390,000 40,000 350,000
OS£diol H0y &4l 350,000 0 350,000
MSIIEAIE &5 23,842,000 21,872,000 1,970,000
Xl 10,454,000 10,454,000 0
= 13,388,000 11,418,000 1,970,000
SS3HNSANE &3 4,355,000 2,385,000 1,970,000
403 XSS XHE0IE 4,355,000 2,385,000 1,970,000
01 AXISHM A2 EE 4,355,000 2,385,000 1,970,000
OFEd AIEYH &2 HOIEER =4 50,000 0 50,000
O=d UEIHOIESZE HIDIFANE EXISAM 70,000 0 70,000
C]F SYS HILIAZ AXHEC| &X 75,000 0 75,000
OCR= Bt=23 MEHMSAME =4 250,000 0 250,000
O&F XNdH a2 UsSE2E =4 100,000 0 100,000
Q&= 0I30t2 HOIEEZR JIsE2AY 100,000 0 100, 000
OFF HAZA MEAE JIsEZAM 100,000 0 100,000
O3 118 F2AO0IESHE HIIE ANLESA 50,000 0 50,000
OdF RAM=ESSE F7E JsE22AMY 135,000 0 135,000
OZE F2& & NHOoIEEER =4 25,000 0 25,000
OZE 2T =+& & P& A& Z& 40,000 0 40,000
028 BSE ERF USF 50,000 0 50,000
OZE ENS HOIEEH HES 30,000 0 30,000
OSd SE= OF7& A& 100,000 0 100,000
Osdl ==& (SHH) A&NA 30,000 0 30,000
Ot EE=2sE AL 70,000 0 70,000
osdl s AZFEH ALY 45,000 0 45,000
OHE ZQUMSFLEH AIZBA 100,000 0 100,000
OEY DRAZFAE AXXCIWH 200,000 0 200,000
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SA: MSD
HE: AYS A

oozh

S5 AT AE(SSL2Z/HK)

CHol: HZIIBAIL A CERED
SA - Y- G(E0) - NBAND - B of o I RS2
O=% &oHU~E 08 =8 500,000 0 200,000
Ostd AU HIIY HOEESE A= 150,000 0 150,000
ASHE N o oA =4 28,027,087 23,252,390 4,774,647
9 756,582 390,935 365,647
= 27,270,455 22,861,455 4,409,000
T a5t ASCSH 29 NS 17,859,710 17,236,710 615,000
307 212H01 & 17,851,710 17,236,710 615,000
2 A ANAS BT 4,481,710 13,866,710 615,000
o= Hs3 N 12,960,000 12,460,000 500,000
O NS X 1,521,710 1,406,710 115,000
YRCOT 2SI (LRFC) BHS K 7,000,000 4,000,000 3,000,000
307 212H01® 7,000,000 4,000,000 3,000,000
2 N BANY R 7,000,000 4,000,000 3,000,000
OLAFC 22 N 7,000,000 4,000,000 3,000,000
HEMBUSHER 20t X8 200,000 150,000 50,000
307 212H01 & 200,000 150,000 50,000
02 A BAANLSE 200,000 150,000 50,000
O'17H HEMBXSHEA HIH| I 200,000 150,000 50,000
HeHs ¥ 4ENSHE K 522,000 492,000 30,000
307 212H01® 522,000 492,000 30,000
04 B AAE DT 522,000 492,000 30,000
OLRSIMII(H) E=¢ HSWUE X 522,000 492,000 30,000
PN HSHBA K 457,000 383,000 74,000
307 212H0I® 457,000 383,000 74,000
04 LPBANS SR 457,000 383,000 74,000
CCEEY EBIE 45,000 35,000 0,000
OHTI| Al - 20HE ESYHS 5,000 0 5,000
oS MHISH B H 4,000 0 4,000
OXMYE £ OIENE 30,000 0 30,000
OA3I2H 0| ACHE] 0,000 0 0,000
- ENEPNETY 10,000 0 0,000
oO=E2a0l - ARIES 5,000 0 5,000
SESEHIZEY /FES0] 30,000 0 30,000
308 XHXIEHRIS 0| & 30,000 0 30,000
0l AN EES 30,000 0 30,000
OBS2HIZ2EY AXSO HA 30,000 0 30,000
A2DAHUANS M 20,000 0 20,000
308 XHXIEHHIS O/ & 20,000 0 20,000
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2M: MDD

FH: HYS M dSs AT A4S (SSLBF/AE)

St MSHE U™ ¥ SN |4 (ol @al)

SH - B OP(3H) - NIBAY - BAS Ol o+ plE=L" HRS2
01 HXSHBAEES ' 20,000 0 20,000
O3 WHUAUS = 20,000 0 20,000
Ed A2 SCMEHS 83 0F2UE M 20,000 0 20,000
307 S12t0| ™ 20,000 0 20,000
04 QIZFSAFAIR B = 20,000 0 20,000
OFEd A2t &= OF2UHE JH=l 20,000 0 20,000
F& Jclot QLE =M EHE T UE JH= 200,000 0 200,000
308 XXM SOl 200,000 0 200,000
Ol AXESHBAEES 200,000 0 200,000
OFd IOt 2LE =M B2 T U3 JH= 200,000 0 200,000
SHASAUS| HE SHHS JHE 50,000 0 50,000
308 AHXIEtHSO0IA 50,000 0 50,000
01 HIXESHBAEXS 50,000 0 50,000
OZMAEHAUS ZU SoHHS N 50,000 0 50,000
istol=s Z]AE HAE ZAHUS Jhzl 30,000 0 30,000
308 XIS HSOIE 30,000 0 30,000
01 IXSHHBAEEXS 30,000 0 30,000
OUstal= 2T FAHE ZAHUE N 30,000 0 30,000
ST RI0IE A= HH STUE WA 20,000 0 20,000
308 XXM SOIA 20,000 0 20,000
01 HXESNBAEXS 20,000 0 20,000
Oo=Sg8d KXJIE d=3 S=US Al 20,000 0 20,000
H2d IX g€2cte s A 30,000 0 30,000
308 AHXIH S0l & 30,000 0 30,000
01 AXESHHBAEES 30,000 0 30,000
ouzd =N 22 Us iz 30,000 0 30,000
SHARIHI| 2] HESZUSE N 10,000 0 10,000
308 AHXIEtH E0I & 10,000 0 10,000
01 IXESHBAEES 10,000 0 10,000
OSAHESNI 3 HHISUS M= 10,000 0 10,000
d=2 £33 R=U38 MA 10,000 0 10,000
308 XXM SOl E 10,000 0 10,000
01 HXSHHZBAEEXS 10,000 0 10,000
OINBEHUESTHH M= SIR=0U3S = 10,000 0 10,000
DelOof SHLEME 32U SH EHAUE = 30,000 0 30,000
308 RtXIHMSOIE 30,000 0 30,000
01 AXESHBLAEXES 30,000 0 30,000
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fA: MY

=
A AUS HS #=S86 LAT LS (S 2Z/HR)
& M=le XN & &S |

=2 < CEREE

SA - O(3) - NRAY - BES Ol & 04 pIE] HRE2
[ o=clor ENE=ME =0 =4 HA=03 30,000 0 30,000
OFAIOIHZ IO 3| R M2 0H3| 40,000 0 40,000
308 X XICHHIS 01 & 40,000 0 40,000
B ER L 40,000 0 40,000
OOHAIOIHZ US| Rt M2LCHS 40,000 0 40,000
B OLAIOH 341 CHEl JHEI(=D) 450,000 0 450,000
J) 300,000 0 300,000
= 150,000 0 150,000
308 XX CHI SO & 450,000 0 450,000
o] 300,000 0 300,000
= 150,000 0 150,000
O HXSHZNEED 450,000 0 450,000
O OLAIOF 314 43 Ji=! 450,000 0 450,000
bl 300,000 0 300,000
= 150,000 0 150,000
JRESCH ¥ XXA(2D) 65,647 0 65,647
vl 65,647 0 65,647
307 QI2HO| & 65,647 0 65,647
o] 65,647 0 65,647
B oNTHEESIHEX 65,647 0 65,647
OsUE2CHH U KX 65,647 0 65,647
9| 65,647 0 65,647
MEHS TOEG A 3,047,893 3,623,693 324,200
vl 3,483,851 3,159,651 324,200
< 464,042 464,042 0
20IR2100 MBQISHE SYX(2D) 324,200 0 324,200
| 324,200 0 324,200
308 X XISHHISOI& 324,200 0 324,200
9l 324,200 0 324,200
0N HXCSHMBASES 324,200 0 324,200
O=DIR100 MBAQSAY 29 Ko 324,200 0 324,200
J| 324,200 0 324,200
HRES (NS (SHLBB/HS) 3,210 0 3,210
SRS 3,210 0 3,210
MSES 2NLE ue 3,210 0 3,210
802 B8 2| Ef 3,210 0 3,210
NEREEETEE 3.210 0 3,210
©'15E {2 A MEHISHE 253 0 253
©'13~'151 MEHSAL XA 2957 0 2,057
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